Research Article

On Integral Operator Defined by Convolution Involving Hybergeometric Functions

K. Al-Shaqsi and M. Darus

School of Mathematical Sciences, Faculty of Science and Technology, Universiti Kebangsaan Malaysia, 43600 Bangi, Selangor Darul Ehsan, Malaysia

Correspondence should be addressed to M. Darus, maslina@pkrisc.cc.ukm.my

Received 16 September 2007; Accepted 9 January 2008

Recommended by Brigitte Forster-Heinlein

For $\lambda > -1$ and $\mu \ge 0$, we consider a liner operator I_{λ}^{μ} on the class \mathcal{A} of analytic functions in the unit disk defined by the convolution $(f_{\mu})^{(-1)} * f(z)$, where $f_{\mu} = (1-\mu)z_2F_1(a,b,c;z) + \mu z(z_2F_1(a,b,c;z))'$, and introduce a certain new subclass of \mathcal{A} using this operator. Several interesting properties of these classes are obtained.

Copyright © 2008 K. Al-Shaqsi and M. Darus. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

1. Introduction

Let \mathcal{A} denote the class of functions of the form

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k,$$
 (1.1)

which are analytic in the unit disk $\mathbb{U} = \{z : |z| < 1\}$.

If $f(z) \in \mathcal{A}$ satisfies

$$\left|\arg\left(\frac{zf'(z)}{f(z)} - \alpha\right)\right| < \frac{\pi}{2}\beta \quad (z \in \mathbb{U}, \ 0 \le \alpha < 1, \ 0 < \beta \le 1),$$
(1.2)

then f(z) is said to be strongly starlike of order β and type α in \mathbb{U} , and denoted by $S^*(\alpha, \beta)$. If $f(z) \in \mathcal{A}$ satisfies

$$\left|\arg\left(1+\frac{zf''(z)}{f'(z)}-\alpha\right)\right| < \frac{\pi}{2}\beta \quad (z \in \mathbb{U}, \ 0 \le \alpha < 1, \ 0 < \beta \le 1),$$
(1.3)

then f(z) is said to be strongly convex of order β and type α in \mathbb{U} , and denoted by $C(\alpha, \beta)$. It is obvious that $f(z) \in \mathcal{A}$ belongs to $C(\alpha, \beta)$ if and if $zf'(z) \in S^*(\alpha, \beta)$. Further, we note that $S^*(\alpha, 1) \equiv S^*(\alpha)$ and $C(\alpha, 1) \equiv C(\alpha)$ which are, respectively, starlike and convex univalent functions of order α .

Let *P* denote the class of functions of the form $p(z) = 1 + p_1 z + \cdots$ analytic in \mathbb{U} which satisfy the condition $\operatorname{Re}\{P(z)\} > 0$.

For functions f given by (1.1) and $g(z) = z + \sum_{k=2}^{\infty} b_k z^k$, let (f*g)(z) denote the Hadamard product (or convolution) of f(z) and g(z), defined by

$$(f*g)(z) = f(z)*g(z) = z + \sum_{k=2}^{\infty} a_k b_k z^k.$$
(1.4)

If *f* and *g* are analytic in U, we say that *f* is subordinate to *g*, written $f \prec g$ or $f(z) \prec g(z)$, if there exists a Schwarz function *w* in U such that f(z) = g(w(z)) [1].

Let $f \in \mathcal{A}$. Denote by $D^{\lambda} : \mathcal{A} \to \mathcal{A}$ the operator defined by

$$D^{\lambda} = \frac{z}{(1-z)^{\lambda+1}} * f(z) \quad (\lambda > -1).$$
(1.5)

It is obvious that $D^0 f(z) = f(z)$, $D^1 f(z) = zf'(z)$, and

$$D^{\delta}f(z) = \frac{z(z^{\delta-1}f(z))^{(\delta)}}{\delta!} \quad (\delta \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}).$$

$$(1.6)$$

The operator $D^{\delta}f$ is called the δ th-order Ruscheweyh derivative of f. Recently, K. I. Noor [2] and K. I. Noor and M. A. Noor [3] defined and studied an integral operator $I_n : \mathcal{A} \to \mathcal{A}$, analogous to $D^{\delta}f(z)$ as follows.

Let $f_n = z/(1-z)^{n+1}$, $(n \in \mathbb{N}_0)$, and $f_n^{(-1)}(z)$ be defined such that

$$f_n(z) * f_n^{(-1)}(z) = \frac{z}{(1-z)^2}.$$
(1.7)

Then

$$I_n f(z) = f_n^{(-1)}(z) * f(z) = \left[\frac{z}{(1-z)^{n+1}}\right]^{(-1)} * f(z) \quad (f \in \mathcal{A}).$$
(1.8)

We note that $I_0 f(z) = zf'(z)$, $I_1 f(z) = f(z)$. The operator I_n is called the Noor integral of *n*th order of *f* (see [4, 5]), which is an important tool in defining several classes of analytic functions. In recent years, it has been shown that Noor integral operator has fundamental and significant applications in the geometric function theory.

For real or complex numbers a, b, c other than 0, -1, -2, ..., the hypergeometric series is defined by

$${}_{2}F_{1}(a,b;c;z) = \sum_{k=0}^{\infty} \frac{(a)_{k}(b)_{k}}{(c)_{k}(1)_{k}} z^{k},$$
(1.9)

K. Al-Shaqsi and M. Darus

where $(x)_k$ is Pochhammer symbol defined by

$$(x)_k = \frac{\Gamma(x+k)}{\Gamma(x)} = x(x+1)\cdots(x+k-1) \quad \text{for } k = 1, 2, 3, \dots, \ x \in \mathbb{C}, \ (x)_0 = 1.$$
(1.10)

We note that the series (1.9) converges absolutely for all $z \in U$ so that it represents an analytic function in U. Also an incomplete beta function $\phi(a, c; z)$ is related to Gauss hypergeometric function $z_2F_1(a, b; c; z)$ as

$$\phi(a,c;z) = z_2 F_1(1,a;c;z), \tag{1.11}$$

and we note that $\phi(a, 1; z) = z/(1-z)^a$, where $\phi(2, 1; z)$ is Koebe function. Using $\phi(a, c; z)$, a convolution operator [6], was defined by Carlson and Shaferr. Furthermore, Hohlov [7] introduced a convolution operator using $_2F_1(a, b; c; z)$.

N. Shukla and P. Shukla [8] studied the mapping properties of a function f_{μ} to be as given in

$$f_{\mu}(a,b,c)(z) = (1-\mu)z_2F_1(a,b,c;z) + \mu z (z_2F_1(a,b,c;z))' \quad (\mu \ge 0),$$
(1.12)

and investigated the geometric properties of an integral operator of the form

$$I(z) = \int_{0}^{z} \frac{f_{\mu}(t)}{t} dt.$$
 (1.13)

Kim and Shon [9] considered linear operator $L_{\mu} : \mathcal{A} \to \mathcal{A}$ defined by $L_{\mu}(a, b, c)f(z) = f_{\mu}(a, b, c)(z)*f(z)$.

We now introduce a function $(f_{\mu})^{(-1)}$ given by

$$f_{\mu}(a,b,c)(z)*(f_{\mu}(a,b,c)(z))^{(-1)} = \frac{z}{(1-z)^{\lambda+1}} \quad (\mu \ge 0, \ \lambda > -1),$$
(1.14)

and obtain the following linear operator:

$$I_{\mu}^{\lambda}(a,b,c)f(z) = \left(f_{\mu}(a,b,c)(z)\right)^{(-1)} * f(z).$$
(1.15)

The operator I_{μ}^{λ} is known as the generalized integral operator. For $\mu = 0$ in (1.14), $I_{\lambda}(a,b; c)f(z) := I_{\mu}^{\lambda}(a,b;c)f(z)$, which was introduced by K. I. Noor [10].

Now we find the explicit form of the function $(f_{\mu})^{(-1)}$. It is well known that $\lambda > -1$

$$\frac{z}{(1-z)^{\lambda+1}} = \sum_{k=0}^{\infty} \frac{(\lambda+1)_k}{k!} z^{k+1} \quad (z \in \mathbb{U}).$$
(1.16)

Putting (1.9) and (1.16) in (1.14), we get

$$\sum_{k=0}^{\infty} \frac{(\mu k+1)(a)_k(b)_k}{(c)_k(1)_k} z^{k+1} * (f_{\mu})^{(-1)} = \sum_{k=0}^{\infty} \frac{(\lambda+1)_k}{k!} z^{k+1}.$$
(1.17)

Therefore, the function $(f_{\mu})^{(-1)}$ has the following form:

$$\left(f_{\mu}(a,b,c)(z)\right)^{(-1)} = \sum_{k=0}^{\infty} \frac{(\lambda+1)_{k}(c)_{k}}{(\mu k+1)(a)_{k}(b)_{k}} z^{k+1} \quad (z \in \mathbb{U}).$$
(1.18)

Now we note that

$$I_{\mu}^{\lambda}(a,b,c)f(z) = z + \sum_{k=1}^{\infty} \frac{(\lambda+1)_k(c)_k}{(\mu k+1)(a)_k(b)_k} a_{k+1} z^{k+1}.$$
(1.19)

From (1.19), we note that

$$I_0^{\lambda}(a,\lambda+1,a)f(z) = f(z), \qquad I_0^{1}(a,1,a)f(z) = zf'(z).$$
(1.20)

Also it can easily be verified that

$$z(I_{\mu}^{\lambda}(a,b,c)f(z))' = (\lambda+1)I_{\mu}^{\lambda+1}(a,b,c)f(z) - \lambda I_{\mu}^{\lambda}(a,b,c)f(z),$$
(1.21)

$$z(I_{\mu}^{\lambda}(a+1,b,c)f(z))' = aI_{\mu}^{\lambda}(a,b,c)f(z) - (a-1)I_{\mu}^{\lambda}(a+1,b,c)f(z).$$
(1.22)

Now we introduce the following classes in term of the new operator $I^{\lambda}_{\mu}(a, b, c)$. For $\lambda > -1$, $\mu \ge 0, 0 \le \alpha < 1$, and $0 < \beta \le 1$, let $\mathcal{S}^{\lambda}_{\mu}(a, b, c; \alpha, \beta)$ be the class of functions $f \in \mathcal{A}$ satisfying

$$\left|\arg\left(\frac{z(I_{\mu}^{\lambda}(a,b,c)f(z))'}{I_{\mu}^{\lambda}(a,b,c)f(z)} - \alpha\right)\right| < \frac{\pi}{2}\beta \quad (z \in \mathbb{U}).$$

$$(1.23)$$

Observe that $I^{\lambda}_{\mu}(a,b,c)f(z) \in S^{*}(\alpha,\beta)$ and $z(I^{\lambda}_{\mu}(a,b,c)f(z))'/I^{\lambda}_{\mu}(a,b,c)f(z) \neq \alpha$. Also, for $\lambda > 0$ $-1, \mu \ge 0, 0 \le \alpha < 1$, and $0 < \beta \le 1$, let $C^{\lambda}_{\mu}(a, b, c; \alpha, \beta)$ be the class of functions $f \in \mathcal{A}$ satisfying

$$\left| \arg \left(1 + \frac{z \left(I_{\mu}^{\lambda}(a,b,c)f(z) \right)''}{\left(I_{\mu}^{\lambda}(a,b,c)f(z) \right)'} - \alpha \right) \right| < \frac{\pi}{2} \beta \quad (z \in \mathbb{U}).$$

$$(1.24)$$

Observe that $I^{\lambda}_{\mu}(a,b,c)f(z) \in C(\alpha,\beta)$ and $1 + z(I^{\lambda}_{\mu}(a,b,c)f(z))''/(I^{\lambda}_{\mu}(a,b,c)f(z))' \neq \alpha$.

Clearly, $f \in C^{\lambda}_{\mu}(a, b, c; \alpha, \beta)$ if and only if $zf'(z) \in S^{\lambda}_{\mu}(a, b, c; \alpha, \beta)$. Note that $S^{\lambda}_{0}(a, \lambda + 1, a; \alpha, \beta) \equiv S^{*}(\alpha, \beta), S^{\lambda}_{0}(a, \lambda + 1, a; \alpha, 1) \equiv S^{*}(\alpha), C^{\lambda}_{0}(a, \lambda + 1, a; \alpha, \beta) \equiv C(\alpha, \beta)$, and $C^{\lambda}_{0}(a, \lambda + 1, a; \alpha, 1) \equiv C(\alpha)$.

Finally, let $\mathcal{K}^{\lambda}_{\mu}(a, b, c; \alpha, \beta, \gamma; A, B)$ be the class of functions $f \in \mathcal{A}$ satisfying

$$\left|\arg\left(\frac{z(I^{\lambda}_{\mu}(a,b,c)f(z))'}{I^{\lambda}_{\mu}(a,b,c)g(z)} - \alpha\right)\right| < \frac{\pi}{2}\beta \quad (z \in \mathbb{U})$$
(1.25)

for $\lambda > -1$, $\mu \ge 0$, $0 \le \alpha < 1$, $0 < \beta \le 1$, and $g \in Q_{\mu}^{\lambda}(a, b, c; \gamma; A, B)$, where

$$Q_{\mu}^{\lambda}(a,b,c;\gamma;A,B) = \left\{g \in \mathscr{A} : \frac{1}{1-\gamma} \left(\frac{z(I_{\mu}^{\lambda}(a,b,c)g(z))'}{I_{\mu}^{\lambda}(a,b,c)g(z)} - \gamma\right) \prec \frac{1+Az}{1+Bz}\right\} \quad (z \in \mathbb{U}; \ 0 \le \gamma < 1, \ -1 \le B < A \le 1).$$

$$(1.26)$$

K. Al-Shaqsi and M. Darus

We also note that $\mathcal{K}_0^{\lambda}(a, \lambda + 1, a; \alpha, 1, \gamma; 1, -1)$ and $\mathcal{K}_0^{\lambda}(a, 1, a; \alpha, 1, \gamma; 1, -1)$ are the classes of quasiconvex and close-to-convex functions of order α and type γ , respectively, introduced and studied by Noor and Alkhorasani [11] and Silverman [12].

2. Main results

In order to give our results, we need the following lemmas.

Lemma 2.1 (see [13]). Let β , γ be complex numbers. Let $\phi(z)$ be convex univalent in \mathbb{U} with $\phi(0) = 1$ and $\operatorname{Re}[\beta\phi(z) + \gamma] > 0$, $z \in \mathbb{U}$ and $q \in \mathcal{A}$ with $q(z) \prec \phi(z)$, $z \in \mathbb{U}$. If $p \in P$ is analytic in \mathbb{U} , then

$$p(z) + \frac{zp'(z)}{\beta q(z) + \gamma} \prec \phi(z) \quad (z \in \mathbb{U})$$
(2.1)

implies

$$p(z) \prec \phi(z) \quad (z \in \mathbb{U}).$$
 (2.2)

Lemma 2.2 (see [14]). Let δ , η be complex numbers. Let $\phi(z)$ be convex univalent in \mathbb{U} with $\phi(0) = 1$ and Re[$\delta\phi(z) + \eta$] > 0, $z \in \mathbb{U}$. If $p \in P$ is analytic in \mathbb{U} , then

$$p(z) + \frac{zp'(z)}{\delta p(z) + \eta} \prec \phi(z) \quad (z \in \mathbb{U})$$
(2.3)

implies

$$p(z) \prec \phi(z) \quad (z \in \mathbb{U}).$$
 (2.4)

Lemma 2.3 (see [15]). Let $\phi(z)$ be convex univalent in \mathbb{U} and let $E \ge 0$. Suppose B(z) is analytic in \mathbb{U} with Re $B(z) \ge E$, If $g \in P$ is analytic in \mathbb{U} , then

$$Ez^{2}g''(z) + B(z)zg'(z) + g(z) \prec \phi(z) \quad (z \in \mathbb{U})$$

$$(2.5)$$

implies

$$g(z) \prec \phi(z) \quad (z \in \mathbb{U}). \tag{2.6}$$

Theorem 2.4. Let $\phi(z)$ be convex univalent in \mathbb{U} with $\phi(0) = 1$ and Re $\phi(z) \ge 0$. If $f(z) \in \mathcal{A}$ satisfies the condition

$$\frac{1}{1-\gamma} \left(\frac{z \left(I_{\mu}^{\lambda+1}(a,b,c)f(z) \right)'}{I_{\mu}^{\lambda+1}(a,b,c)f(z)} - \gamma \right) \prec \phi(z) \quad (z \in \mathbb{U}),$$

$$(2.7)$$

then

$$\frac{1}{1-\gamma} \left(\frac{z \left(I_{\mu}^{\lambda}(a,b,c)f(z) \right)'}{I_{\mu}^{\lambda}(a,b,c)f(z)} - \gamma \right) \prec \phi(z) \quad (z \in \mathbb{U})$$

$$(2.8)$$

for $\lambda > -1$, $\mu \ge 0$, and $0 \le \gamma < 1$.

Proof. Let

$$p(z) = \frac{1}{1 - \gamma} \left(\frac{z (I_{\mu}^{\lambda}(a, b, c) f(z))'}{I_{\mu}^{\lambda}(a, b, c) f(z)} - \gamma \right),$$
(2.9)

where $p \in P$. By using (1.21) in (2.9) and then differentiating, we get

$$\frac{1}{1-\gamma} \left(\frac{z (I_{\mu}^{\lambda+1}(a,b,c)f(z))'}{I_{\mu}^{\lambda+1}(a,b,c)f(z)} - \gamma \right) = p(z) + \frac{z p'(z)}{(\lambda+1)q(z)'},$$
(2.10)

where $q(z) = I_{\mu}^{\lambda+1}(a, b, c)f(z)/I_{\mu}^{\lambda}(a, b, c)f(z)$ and $q(z) \prec \phi(z)$. Hence by applying Lemma 2.1, we obtain the required result.

Theorem 2.5. Let $\phi(z)$ be convex univalent in \mathbb{U} with $\phi(0) = 1$ and Re $\phi(z) \ge 0$. If $f(z) \in \mathcal{A}$ satisfies the condition

$$\frac{1}{1-\gamma} \left(\frac{z \left(I_{\mu}^{\lambda}(a,b,c)f(z) \right)'}{I_{\mu}^{\lambda}(a,b,c)f(z)} - \gamma \right) \prec \phi(z) \quad (z \in \mathbb{U}),$$
(2.11)

then

$$\frac{1}{1-\gamma} \left(\frac{z \left(I_{\mu}^{\lambda}(a+1,b,c)f(z) \right)'}{I_{\mu}^{\lambda}(a+1,b,c)f(z)} - \gamma \right) \prec \phi(z) \quad (z \in \mathbb{U})$$

$$(2.12)$$

for $\lambda > -1$, $\mu \ge 0$, and $0 \le \gamma < 1$.

Proof. By using the same technique in the proof of Theorem 2.4 and using (1.22) and applying Lemma 2.2, we obtain the required result. \Box

Taking $\phi(z) = (1 + Az)/(1 + Bz)$ $(-1 \le B < A \le 1)$ in Theorem 2.4 and in Theorem 2.5, we have the following.

Corollary 2.6. It holds that

$$Q_{\mu}^{\lambda+1}(a,b,c;\gamma;A,B) \subset Q_{\mu}^{\lambda}(a,b,c;\gamma;A,B),$$

$$Q_{\mu}^{\lambda}(a,b,c;\gamma;A,B) \subset Q_{\mu}^{\lambda}(a+1,b,c;\gamma;A,B)$$
(2.13)

for $\lambda > -1$, $\mu \ge 0$, $0 \le \gamma < 1$, and Re $a > 1 - \gamma$.

Also, by taking $\phi(z) = ((1 + z)/(1 - z))^{\beta}$ (0 < $\beta \le 1$) in Theorem 2.4 and in Theorem 2.5, we have the following.

Corollary 2.7. It holds that

$$\mathcal{S}_{\mu}^{\lambda+1}(a,b,c;\gamma,\beta) \subset \mathcal{S}_{\mu}^{\lambda}(a,b,c;\gamma,\beta),$$

$$\mathcal{S}_{\mu}^{\lambda}(a,b,c;\gamma,\beta) \subset \mathcal{S}_{\mu}^{\lambda}(a+1,b,c;\gamma,\beta)$$
(2.14)

for $\lambda > -1$, $\mu \ge 0$, $0 \le \gamma < 1$, and Re $a > 1 - \beta$.

6

Corollary 2.8. For $\lambda > -1$, $\mu \ge 0$, $0 \le \gamma < 1$, and Re $a > 1 - \beta$, one has

$$C^{\lambda+1}_{\mu}(a,b,c;\gamma,\beta) \subset C^{\lambda}_{\mu}(a,b,c;\gamma,\beta),$$

$$C^{\lambda}_{\mu}(a,b,c;\gamma,\beta) \subset C^{\lambda}_{\mu}(a+1,b,c;\gamma,\beta).$$
(2.15)

Proof. We will proof the first relation and by the same method we can proof the second relation

$$f(z) \in C^{\lambda+1}_{\mu}(a,b,c;\gamma,\beta) \iff zf'(z) \in S^{\lambda+1}_{\mu}(a,b,c;\gamma,\beta)$$

$$\iff zf'(z) \in S^{\lambda}_{\mu}(a,b,c;\gamma,\beta)$$

$$\iff I^{\lambda}_{\mu}(a,b,c)(zf'(z)) \in S^{*}(\gamma,\beta)$$

$$\iff z(I^{\lambda}_{\mu}(a,b,c)f(z))' \in S^{*}(\gamma,\beta)$$

$$\iff f(z) \in C^{\lambda}_{\mu}(a,b,c;\gamma,\beta).$$

$$\Box$$

$$(2.16)$$

Theorem 2.9. Let $\phi(z)$ be convex univalent in \mathbb{U} with $\phi(0) = 1$ and Re $\phi(z) \ge 0$. If $f(z) \in \mathcal{A}$ satisfies the condition

$$\frac{1}{1-\gamma} \left(\frac{z \left(I_{\mu}^{\lambda}(a,b,c)f(z) \right)'}{I_{\mu}^{\lambda}(a,b,c)f(z)} - \gamma \right) \prec \phi(z) \quad (0 \le \gamma < 1; \ z \in \mathbb{U}),$$
(2.17)

then

$$\frac{1}{1-\gamma} \left(\frac{z \left(I_{\mu}^{\lambda}(a,b,c)F(z) \right)'}{I_{\mu}^{\lambda}(a,b,c)F(z)} - \gamma \right) \prec \phi(z) \quad (0 \le \gamma < 1; \ z \in \mathbb{U}),$$
(2.18)

where F be the integral operator defined by

$$F(z) = \frac{c+1}{z^c} \int_0^z t^{c-1} f(t) dt \quad (c > -1).$$
(2.19)

Proof. From (2.19), we have

$$z(I_{\mu}^{\lambda}(a,b,c)F(z))' = (c+1)I_{\mu}^{\lambda}(a,b,c)f(z) - cI_{\mu}^{\lambda}(a,b,c)F(z).$$
(2.20)

Now, let

$$p(z) = \frac{1}{1 - \gamma} \left(\frac{z (I_{\mu}^{\lambda}(a, b, c)F(z))'}{I_{\mu}^{\lambda}(a, b, c)F(z)} - \gamma \right),$$
(2.21)

where $p \in P$. Then by using (2.20), we get

$$(1 - \gamma)p(z) + c + \gamma = \frac{(c+1)I_{\mu}^{\lambda}(a,b,c)f(z)}{I_{\mu}^{\lambda}(a,b,c)F(z)}.$$
(2.22)

Differentiating both sides of (2.22) logarithmically, we obtain

$$p(z) + \frac{zp'(z)}{c + \gamma + (1 - \gamma)p(z)} = \frac{1}{1 - \gamma} \left(\frac{z(I^{\lambda}_{\mu}(a, b, c)f(z))'}{I^{\lambda}_{\mu}(a, b, c)f(z)} - \gamma \right).$$
(2.23)

Then, by Lemma 2.2, we obtain that

$$\frac{1}{1-\gamma} \left(\frac{z \left(I_{\mu}^{\lambda}(a,b,c)f(z) \right)'}{I_{\mu}^{\lambda}(a,b,c)f(z)} - \gamma \right) \prec \phi(z) \quad (0 \le \gamma < 1; \ z \in \mathbb{U}).$$

$$(2.24)$$

Now, by letting $\phi(z) = (1 + Az)/(1 + Bz) (-1 \le B < A \le 1)$ in Theorem 2.9, we have the following.

Corollary 2.10. For $\lambda > -1$, $\mu \ge 0$, $c > -\gamma$, and $0 \le \gamma < 1$. If $f \in Q^{\lambda}_{\mu}(a, b, c; \gamma; A, B)$, then $F \in Q^{\lambda}_{\mu}(a, b, c; \gamma; A, B)$, where F given by (2.19).

Also, by taking $\phi(z) = ((1+z)/(1-z))^{\beta}$ (0 < $\beta \le 1$) in Theorem 2.9, we have the following.

Corollary 2.11. For $\lambda > -1$, $\mu \ge 0$, $c > -\beta$, $0 < \beta \le 1$, and $0 \le \gamma < 1$. If $f \in \mathcal{S}^{\lambda}_{\mu}(a, b, c; \gamma, \beta)$, then $F \in \mathcal{S}^{\lambda}_{\mu}(a, b, c; \gamma, \beta)$.

Corollary 2.12. For $\lambda > -1$, $\mu \ge 0$, $c > -\beta$, $0 < \beta \le 1$, and $0 \le \gamma < 1$. If $f \in C^{\lambda}_{\mu}(a, b, c; \gamma, \beta)$, then $F \in C^{\lambda}_{\mu}(a, b, c; \gamma, \beta)$.

Proof. It holds that

$$f(z) \in C^{\lambda}_{\mu}(a, b, c; \gamma, \beta) \iff F(zf'(z)) \in S^{\lambda}_{\mu}(a, b, c; \gamma, \beta)$$
$$\iff z(F(z))' \in S^{\lambda}_{\mu}(a, b, c; \gamma, \beta)$$
$$\iff F(z) \in C^{\lambda}_{\mu}(a, b, c; \gamma, \beta).$$

Theorem 2.13. Let $f \in \mathcal{A}$. Then

$$\mathcal{K}_{\mu}^{\lambda+1}(a,b,c;\alpha,\beta,\gamma;A,B) \subset \mathcal{K}_{\mu}^{\lambda}(a,b,c;\alpha,\beta,\gamma;A,B)$$
(2.26)

for Re $a > 1 - \beta$, $0 < \beta \le 1$, $0 \le \alpha < 1$, $0 \le \gamma < 1$, and $-1 \le B < A \le 1$.

Proof. Let $f \in \mathcal{K}_{\mu}^{\lambda+1}(a, b, c; \alpha, \beta, \gamma; A, B)$, then by the definition, we can write

$$\frac{1}{1-\alpha} \left(\frac{z (I_{\mu}^{\lambda+1}(a,b,c)f(z))'}{I_{\mu}^{\lambda+1}(a,b,c)g(z)} - \alpha \right) \prec \left(\frac{1+z}{1-z} \right)^{\beta} \quad (z \in \mathbb{U})$$
(2.27)

for some $g \in Q_{\mu}^{\lambda+1}(a, b, c; \gamma; A, B)$.

Letting $h(z) = z(I^{\lambda}_{\mu}(a,b,c)f(z))'/I^{\lambda}_{\mu}(a,b,c)g(z)$ and $H(z) = z(I^{\lambda}_{\mu}(a,b,c)g(z))'I^{\lambda}_{\mu}(a,b,c)g(z)$, we observe that h(z), $H(z) \in P(z)$. Now by Corollary 2.6, $g \in Q^{\lambda}_{\mu}(a,b,c;\gamma;A,B)$ and so Re $H(z) > \gamma$. Also, note that

$$z(I_{\mu}^{\lambda}(a,b,c)f(z))' = (I_{\mu}^{\lambda}(a,b,c)g(z))h(z).$$
(2.28)

Differentiating both sides in (2.28) yields

$$\frac{z(I_{\mu}^{\lambda}(a,b,c)f(z))'}{I_{\mu}^{\lambda}(a,b,c)g(z)} = \frac{z(I_{\mu}^{\lambda}(a,b,c)g(z))'}{I_{\mu}^{\lambda+1}(a,b,c)g(z)}h(z) + zh'(z) = H(z)h(z) + zh'(z).$$
(2.29)

Now by using the identity (1.21), we obtain

$$\frac{z(I_{\mu}^{\lambda+1}(a,b,c)f(z))'}{I_{\mu}^{\lambda+1}(a,b,c)g(z)} = \frac{I_{\mu}^{\lambda+1}(a,b,c)(zf'(z))}{I_{\mu}^{\lambda+1}(a,b,c)g(z)} = \frac{z(I_{\mu}^{\lambda}(a,b,c)(zf'(z)))' + \lambda I_{\mu}^{\lambda}(a,b,c)(zf'(z))}{z(I_{\mu}^{\lambda}(a,b,c)g(z))' + \lambda I_{\mu}^{\lambda}(a,b,c)g(z)}$$

$$= \frac{z(I_{\mu}^{\lambda}(a,b,c)(zf'(z)))'/I_{\mu}^{\lambda}(a,b,c)g(z) + \lambda(I_{\mu}^{\lambda}(a,b,c)(zf'(z))/I_{\mu}^{\lambda}(a,b,c)g(z))}{z(I_{\mu}^{\lambda}(a,b,c)g(z))'/I_{\mu}^{\lambda}(a,b,c)g(z) + \lambda}$$

$$= \frac{H(z)h(z) + zh'(z) + \lambda h(z)}{H(z) + \lambda} = h(z) + \frac{zh'(z)}{H(z) + \lambda}.$$
(2.30)

From (2.27), (2.28), and (2.30), we conclude that

$$\frac{1}{1-\alpha} \left(h(z) + \frac{zh'(z)}{H(z) + \lambda} - \alpha \right) \prec \left(\frac{1+z}{1-z} \right)^{\beta}.$$
(2.31)

Letting E = 0 and $B(z) = (1/(1 - \alpha))(1/(H(z) + \lambda))$, we obtain

$$\operatorname{Re}[B(z)] = \frac{1}{1-\alpha} \frac{1}{|H(z)+\lambda|^2} \operatorname{Re}[H(z)+\lambda] > 0.$$
(2.32)

The above inequality satisfies the conditions required by Lemma 2.3. Hence $\phi(z) \prec ((1 + z)/((1 - z))^{\beta})^{\beta}$ and so the proof is complete.

Theorem 2.14. Let $f \in \mathcal{A}$. Then

$$\mathcal{K}^{\lambda}_{\mu}(a,b,c;\alpha,\beta,\gamma;A,B) \subset \mathcal{K}^{\lambda}_{\mu}(a+1,b,c;\alpha,\beta,\gamma;A,B)$$
(2.33)

for Re $a > 1 - \beta$, $0 < \beta \le 1$, $0 \le \alpha < 1$, $0 \le \gamma < 1$, and $-1 \le B < A \le 1$.

Proof. By using the same technique as in the proof of Theorem 2.13, we get

$$\frac{1}{1-\alpha} \left(h(z) + \frac{zh'(z)}{H(z) + (\alpha - 1)} - \alpha \right) \prec \left(\frac{1+z}{1-z} \right)^{\beta}.$$
(2.34)

By letting E = 0 and $B(z) = (1/(1 - \alpha))(1/(H(z) + (a - 1)))$, we obtain

$$\operatorname{Re}[B(z)] = \frac{1}{1-\alpha} \frac{1}{|H(z) + (a-1)|^2} \operatorname{Re}[H(z) + (a-1)] > 0.$$
(2.35)

Then, by applying Lemma 2.3, we obtain the required result.

Theorem 2.15. Let $c > -\beta$, $0 < \beta \le 1$, $0 \le \alpha < 1$, $0 \le \gamma < 1$, and $-1 \le B < A \le 1$. If $f \in \mathcal{K}^{\lambda}_{\mu}(a,b,c;\alpha,\beta,\gamma;A,B)$, then $F \in \mathcal{K}^{\lambda}_{\mu}(a,b,c;\alpha,\beta,\gamma;A,B)$, where F is given by (2.19).

Proof. Also, by using the same technique as in the proof of Theorem 2.13, we get

$$\frac{1}{1-\alpha} \left(\frac{zh'(z)}{H(z)+c} + h(z) - \alpha \right) \prec \left(\frac{1+z}{1-z} \right)^{\beta}.$$
(2.36)

By letting *E* = 0 and $B(z) = (1/(1 - \alpha))(1/(H(z) + c))$, we obtain

$$\operatorname{Re}[B(z)] = \frac{1}{1-\alpha} \frac{1}{|H(z)+c|^2} \operatorname{Re}[H(z)+c] > 0.$$
(2.37)

Then, applying Lemma 2.3, we obtain the required result.

Acknowledgment

The work presented here was supported by Fundamental Research Grant Scheme UKM-ST-01-FRGS0055-2006.

References

- [1] C. Pommerenke, Univalent Functions, Vandenhoeck & Ruprecht, Göttingen, Germany, 1975.
- [2] K. I. Noor, "On new classes of integral operators," *Journal of Natural Geometry*, vol. 16, no. 1-2, pp. 71–80, 1999.
- [3] K. I. Noor and M. A. Noor, "On integral operators," *Journal of Mathematical Analysis and Applications*, vol. 238, no. 2, pp. 341–352, 1999.
- [4] J. Liu, "The Noor integral and strongly starlike functions," *Journal of Mathematical Analysis and Appli*cations, vol. 261, no. 2, pp. 441–447, 2001.
- [5] N. E. Cho, "The Noor integral operator and strongly close-to-convex functions," Journal of Mathematical Analysis and Applications, vol. 283, no. 1, pp. 202–212, 2003.
- [6] B. C. Carlson and D. B. Shaffer, "Starlike and prestarlike hypergeometric functions," SIAM Journal on Mathematical Analysis, vol. 15, no. 4, pp. 737–745, 1984.
- [7] J. E. Hohlov, "Operators and operations on the class of univalent functions," Izvestiya Vysshikh Uchebnykh Zavedenič. Matematika, no. 10(197), pp. 83–89, 1978, (Russian).
- [8] N. Shukla and P. Shukla, "Mapping properties of analytic function defined by hypergeometric function. II," *Soochow Journal of Mathematics*, vol. 25, no. 1, pp. 29–36, 1999.
- [9] J. A. Kim and K. H. Shon, "Mapping properties for convolutions involving hypergeometric functions," International Journal of Mathematics and Mathematical Sciences, vol. 2003, no. 17, pp. 1083–1091, 2003.

K. Al-Shaqsi and M. Darus

- [10] K. I. Noor, "Integral operators defined by convolution with hypergeometric functions," Applied Mathematics and Computation, vol. 182, no. 2, pp. 1872–1881, 2006.
- [11] K. I. Noor and H. A. Alkhorasani, "Properties of close-to-convexity preserved by some integral operators," *Journal of Mathematical Analysis and Applications*, vol. 112, no. 2, pp. 509–516, 1985.
- [12] H. Silverman, "On a class of close-to-convex functions," Proceedings of the American Mathematical Society, vol. 36, no. 2, pp. 477–484, 1972.
- [13] K. S. Padmanabhan and R. Parvatham, "Some applications of differential subordination," Bulletin of the Australian Mathematical Society, vol. 32, no. 3, pp. 321–330, 1985.
- [14] P. Eenigenburg, S. S. Miller, P. T. Mocanu, and M. O. Reade, "On a Briot-Bouquet differential subordination," in *General Inequalities*, vol. 64 of *Internationale Schriftenreihe zur Numerischen Mathematik*, pp. 339–348, Birkhäuser, Basel, Switzerland, 1983.
- [15] S. S. Miller and P. T. Mocanu, "Differential subordinations and inequalities in the complex plane," *Journal of Differential Equations*, vol. 67, no. 2, pp. 199–211, 1987.